

B.Sc. - part - I paper - II

Sub: - Math

Topic: Integration of irrational function.

Function of form  $\sqrt{ax^2+bx+c}$   
&  $\frac{1}{\sqrt{ax^2+bx+c}}$  are called irrational function

Some standard formulae

$$(i) \int \frac{ax}{\sqrt{x^2-a^2}} = \log|x+\sqrt{x^2-a^2}|$$

$$(ii) \int \frac{ax}{\sqrt{a^2-x^2}} = \sin^{-1} \frac{x}{a}$$

$$(iii) \int \sqrt{a^2-x^2} dx = \frac{a^2}{2} \sin^{-1} \frac{x}{a} + \frac{x\sqrt{a^2-x^2}}{2}$$

$$(iv) \int \sqrt{x^2-a^2} dx = \frac{x+\sqrt{x^2-a^2}}{2} - \frac{a^2}{2} \log|x+\sqrt{x^2-a^2}|$$

$$(v) \int \sqrt{a^2+bx^2} dx = \frac{x\sqrt{a^2+bx^2}}{2} + \frac{a^2}{2} \log|x+\sqrt{a^2+bx^2}|$$

$$(vi) \int \frac{ax}{\sqrt{x^2+bx}} = \log|x+\sqrt{x^2+bx}|$$

problem 1  $\int \frac{1+x^2}{1-x} \cdot \frac{dx}{\sqrt{1+x^2+x^4}}$

Soln - 
$$I = \int \frac{x(1+\frac{1}{x})}{x(\frac{1}{x}-x) \sqrt{x^2(\frac{1}{x^2}+1+x^2)}} dx$$
  
$$= - \int \frac{x+\frac{1}{x}}{x-\frac{1}{x} \cdot x\sqrt{(x-\frac{1}{x})^2+3}} dx$$

we put  $x - \frac{1}{x} = z$  so that  
 $(1 + \frac{1}{x^2}) dx = dz$

this  $\Rightarrow (x + \frac{1}{x}) \frac{dx}{x} = dz$

$\therefore I = - \int \frac{dz}{x \sqrt{z^2 + 3}}$  (1)

Again we put  $z = \frac{1}{y}$  so  $dz = -\frac{1}{y^2} dy$

From (1)  $I = - \int \frac{-\frac{1}{y^2} dy}{\frac{1}{y} \sqrt{\frac{1}{y^2} + 3}} = \int \frac{dy}{\sqrt{1 + 3y^2}}$

$= \int \frac{dy}{\sqrt{3}(\frac{1}{3} + y^2)} = \frac{1}{\sqrt{3}} \int \frac{dy}{\frac{1}{3} + y^2}$

$= \frac{1}{\sqrt{3}} \log \left\{ y + \sqrt{y^2 + \frac{1}{3}} \right\}$

$= \frac{1}{\sqrt{3}} \sinh^{-1} \left( \frac{y}{\frac{1}{\sqrt{3}}} \right)$

$= \frac{1}{\sqrt{3}} \sinh^{-1} (\sqrt{3} y)$

$= \frac{1}{\sqrt{3}} \sinh^{-1} \left( \frac{\sqrt{3} x}{x^2 - 1} \right)$

problem (2) - integrate

Soln. - let  $I = \int \sqrt{(x-a)(b-x)} dx$

Here  $(x-a)(b-x) = x^2 - x^2 - ax + bx$

$= -x^2 + x(a+b) - ab = -\left\{ x^2 - x(a+b) + \frac{(a+b)^2}{4} \right\} + \frac{(a+b)^2}{4} - ab$

$= -\left[ \left\{ x^2 - x(a+b) + \left(\frac{a+b}{2}\right)^2 \right\} + \left[ \frac{(a+b)^2}{4} - ab \right] \right]$

$$= - \left[ \left\{ x - \frac{\alpha + \beta}{2} \right\}^2 + \left\{ \frac{4\alpha\beta - (\alpha + \beta)^2}{4} \right\} \right]$$

$$= - \left[ \left\{ x - \frac{\alpha + \beta}{2} \right\}^2 - \left\{ \frac{(\alpha + \beta)^2 - 4\alpha\beta}{4} \right\} \right]$$

$$= - \left[ \left\{ x - \frac{\alpha + \beta}{2} \right\}^2 - \left\{ \frac{\alpha - \beta}{2} \right\}^2 \right]$$

$$= \left( \frac{\alpha - \beta}{2} \right)^2 - \left( x - \frac{\alpha + \beta}{2} \right)^2$$

Let  $\frac{\alpha - \beta}{2} = a$ ,  $x - \frac{\alpha + \beta}{2} = y$  then  $a^2 - y^2$

$$(a - y)(a + y) = a^2 - y^2$$

$$\text{Now } I = \int \sqrt{(a - y)(a + y)} \cdot a \, dx = \int \sqrt{a^2 - y^2} \cdot a \, dy$$

$$= \frac{y}{2} \sqrt{a^2 - y^2} + \frac{a^2}{2} \sin^{-1} \frac{y}{a}$$

$$\Rightarrow \frac{x - \frac{\alpha + \beta}{2}}{2} \sqrt{(a - y)(a + y)} + \frac{1}{2} \left( \frac{\alpha - \beta}{2} \right)^2 \sin^{-1} \frac{x - \frac{\alpha + \beta}{2}}{\frac{\alpha - \beta}{2}}$$

$$\Rightarrow \frac{2x - \alpha - \beta}{4} \sqrt{(a - y)(a + y)}$$

$$+ \frac{(\alpha - \beta)^2}{8} \sin^{-1} \frac{2x - \alpha - \beta}{\alpha - \beta}$$